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The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

- 1. Answer the following questions : 1x10=10
©oq PP ed o

(a) Who put forward the IS-LM model?
IS-LM WIf¥0! (e S1ewizfRe 2

(b) What is the condition for equilibrium in
the goods market?

T3] IGR< SO 5% 6 2
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(e)

(9)
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(i
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(2)

Define effective demand.

Aferw siRwa et o |

What is meant by aggregate supply?
SRS Qe e 7 3@ ?

What is stagflation?

s ife [ 2

What is meant by unemployment rate?
frER 2 3ot & 3@ ?

Give an assumption of multiplier.

BT BT SHSYRA o137 |

What is Balance of Payments?

AT el 2

Give the meaning of demonetization.

R oy forar |

What is exchange rate?

Rz

( Continued )

e

(3)

2. Answer the following questions : 2x5=10
oY PIRE Bl fow
(@) What are the components of aggregate
demand? '
AR SRR Somerz & R 2

(b) Why is the slope of IS éurvef negative?
IS (IR B Yo 79 2 |

(c) Show the differences between Current
Account and Capital Account. '

oo Rort wre e PR TeR ERER
S |

(d) Mention two features of inflation.

TR 1 e Bea 79|

e} What are the two types of foreign
exchange market?

Qo Rivw 3ems 161 gor & R 2
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3. Answer any four of the following questions :

5x4=20

©o PR R e vkt Tey fomn

(@)

(b)

d)

(e)
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Define aggregate demand curve. Why

does the aggregate demand curve slope
downward?

TR SRM Q¥R e B TR oW
@IS SEFICE B % 2

What are the limitations of IS-LM
model?

IS-LM w1f3q mﬁ 2

Explain the importance of multiplier.
QYIFY PR IO AN

What are the measures to control
inflation?

Tar S fRagt F9= IR R R o

Define Phillips curve. What does the
short-run Phillips curve show?

R e e o | e R @4
& orgEm 2

( Continued )

1)

(5)

Give the meaning of foreign exchange.
What are the instruments of foreign
exchange?

e R 9 B @oe RfSws
wiftErRR R R 2

4. Answer the following questions : 10x4=40
SO 2R T ot
(a) Define IS-LM curve. Explain the IS-LM

(b)

24A/742

model with the help of diagram.

IS-LM R v5ee @ | IS-LM s foaq
S [ 4|

Or/ a1
Explain how LM curve is derived.

LM R RWeS gt 91 =8, IR0 <40

Explain the causes of demand-pull and
cost-push inflation.

TR vin-ffefe i @-REHe

FREPTIZ J 1 |
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(d)

(6)

- Or/ 9%

Discuss the effects of inflation on
production and distribution.

Beop R ROTR €S EFAfeT 2N
oAl 4 |

What is multiplier? Discuss the working
of multiplier.

@ B 7 s IR SIKes 4

Or / 9%[1l

Explain the nature of short-run and
long-run aggregate supply curve.

mﬂawﬁwﬂﬂm@?ﬁ @ RAR
23S Jrm 90 |

What are the causes of disequilibrium
in Balance of Payments? Mention the
measures to correct the disequilibriu™
in Balance of Payments.

(7)

Or / 5331

What is foreign exchange market?
Explain the functions
exchange market. -

e R 3er R 2 ot R @
FRITEA A F0

of foreign

% % k

mewwﬁsﬁ?
TR STHOR SIARIRAS! TR JAEPTL
T 90|
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